In relation to T3. existing height 15 metres being reduced to 13 metres. Crown spread of 8 metres being reduced to 6
metres.

I thought this was covered in the original application, we are not looking to replant as the overcrowded tree growth is
impacting on the owners ability to utilise and enjoy the garden and excessively blocking sunlight. There is no where to
[bookmark: _GoBack]replant in the small densely tree covered garden without generating the same problem for the client in the future.
